EE 3 A\

2020.125 %7

Lo X4 —fx % KE5& K5 HE ®E508 (%) 194 27 )LD HRE] e
SRTSF v 50 mg/m SEEE |dl
AP & 21H F = A
NEDYPIN % 60 mg/m BUERRE dil
HIVRTZF v AUC=5~6 RUREBETE dl
BEV+DCE % Nt & x4l 70 mg/m RUREBEE dl 21H oP B JeE
RN 2T 15 mg/kg SEeet |dl GEEEEH YY)
NE NI % o
A — B 40 mg/m SEEE |dl
BEV+PLDEE Y 28H =R
RN 2T 10 mg/kg sUEEmE |d1, 15
NN X T 15 mg/kg ROEEE dl
BEV+PTXE % 218 S B R
I RELIL 80 mg/m RURBEE di1, 8, 15
RN 2T 15 mg/kg SEeet |dl GEEEEH YY)
BEV+TCHE*= HIVRT ZF AUC=5~6 SEET |dl 21H 7 =T
RN
ASZAVI 4 i Y 175 mg/m RURREE dl
RN A< 15 mg/kg sEtet |dl (EEEEH Y)
\ ] o S B J3E
BEV+TP&E % YRTTF v 50 mg/m sUEEE |dl 21H =g
T =5
ASZAVI 4 i Y 175 mg/m BURERRE dl
£Y ) TFAhHY 60 mg/ni it |dl, 8, 15
CPT-11+CDDPE% 28H F=SERE
AT TF v 60 mg/m SUREEEE dl
1Y) FHhy 80 mg/ni smser |d1, 15
PT-11+PLDES \ \ 21 N B
CPT-11+PLDATA SIS 0 me/ni T : MR
m m R )
YKy — LB ° H
AY /) THhY 60 mg/m o di1, 8
CPT-11+VP-168% 28H S B f3E
ThrRIFR 50 mg/m/H ®O di-21
\ LAY ) TFhHY 60 mg/nt SEEsE |dl, 8 .
CPT-11+NDP&&% 218 e
2LTTF Y 80 mg/ T D= 1 =R
J X¥TFhv 0.75 mg/m AUEEEE di-3
CDDP+NGTE £ 218 F=SEE
SRS TF v 50 mg/m SUREEEE dl
CDDP+RTE % SRTSF v 40 mg/m SEEmE |dl 7H F=SERE
HILRTSF AUC=5~6 sEET |dl IR ERfE
ddTCE & 21~28H F =SB
Ry REEIL 80 mg/m BURERRE di, 8, 15 F = AR
SRTTF 60 mg/m RUREBRTE dl
DP& % 218 F =R
N =T 70 mg/m SRR E dl




HIVRT ZF v AUC=5~6 BUREEE dil
DCE = 21H ISR
K&t 70 mg/m RUEERE dl
GEMZE N 1000 mg/ni wEsE  |d1,8, 15 28H IR
LY RE Y 1000 mg/m SRR T di1, 8
GEM+CBDCAE % 21H =R
HIVRTZF v AUC=4 RUREBETE dl
FLRE Y 1000 mg/m SoEET |dL, 8
GEM+CBDCA+BEVE: % HILKRTSF v AUC=4 SEET |d1 21H ISP
RN T 15 mg/kg SUEET |dl GEEEEHY)
LY RE Y 800 mg/m RO R T di1, 8
GEM+DTXE % 21H IR ST
Kt xx+tIL 60 mg/m BT ds
HIVR TS F v AUC=2 SEEsT |d1, 8, 15
Low dose TCE&E £ 21H IS[NE==br
N RF¥HEIL 80 mg/m RUERRE dl, 8, 15
NGTE % JXThYv 1.2 mg/m SoEEE d1-5 21H ONEESE
NDP+RTE % IR TSF 30 mg/m EEE |d1 7H F = SR
NEDYDIA <RI
PLDE & 50 mg/m EE T |d1 28H ORI
Uy — LB § i
PTXE & NZAE-EXP 80 mg/m AR T di, 8, 15 21H SR
NG ) ZELIL 175 mg/m =EEE |d1
PTX+NDPEE % 28H ¥ = SR
X RT7F v 80 mg/m RUREBETE dil
HINKRTZF AUC=5~6 soEEnE  |dl IR ESE
TCE: 21H ¥ = EE
Ry YRFEIL 175 mg/m BT dl F AT
SRTTF v 50 mg/m RUREBRE d2
TPEE = 21H ¥ = SEIR
NG ) ZELIL 135 mg/m EE T |d1
F 78 TR FZ7/807 150mg/[g] =0 EHRA (182E) & H SRR




